N—=vy%

REfifli (BiRU)

N—2a-—K

K137 [Mi5 - Pro C/F 1/10 4WD EEY - 9h—*vb ¥64,000] 5051294070885
U1042 |77 FFIG— ¥560| 5051294011086
U1411 [F=IWAFVJ 4X8X3 (2) ¥750] 5051294011703
U1440 [YRA7—LEYV (2) ¥750] 5051294011864
U1529 (752 TF—IWAF1)74x8x3 (2) ¥750] 5051294012205
U1544 [*¥+v7EAX M3 (8) ¥380| 5051294012304
U1551 [E2YUY7 2X8(16) ¥380| 5051294012373
U2128 [1E+ M3 M4 (15) ¥380| 5051294013608
U2148 |F—IWNFVJ 5X10X4(2) ¥750] 5051294013653
U2231 [H—FK%k—> (3) ¥950] 5051294014049
U2480 |KFseohb(4) ¥1,000] 5051294015770
U2718 [¥RA7—LEV (2) ¥750] 5051294017774
U2719 |YA7—LEVFEY ¥1,250] 5051294017781
U2760 |K2ERX M3X4-20 ¥380| 5051294018146
U2761 |74 10X12(8) ¥580] 5051294018153
U2993 [HFN—=)048—(2) ¥2,160| 5051294019877
U2997 [g13—=+7h (2) ¥1,800] 5051294019914
U3016 |[F=IAF7VJ 10X15X4(2) ¥750] 5051294020101
U3021 [4FEZX M3 X6 (10) ¥380| 5051294020149
U3022 [45EZX M3X8(10) ¥380| 5051294020156
U3023 [4SEZX M3X10(10) ¥380| 5051294020163
U3024 [4¥5EZX M3X12(10) ¥380| 5051294020170
U3131 [PISAN=H—tYMM3 X7 0.5-1-2mm ¥1,150] 5051294021214
U3136 |[F—=IANF7JJ 5X8X2.5(2) ¥750] 5051294021269
U3137 [Savi=eo /bhERARR (2) ¥950| 5051294021276
U3160 [85T R/\—F+ (48EVF) ¥1,250] 5051294021498
U3168 [ERX M2.5-M2.6 (8) ¥380] 5051294021573
U3170 [Z9ARN L (4) ¥750] 5051294021597
U3510 |R7—=NT7-1)— ¥2,550| 5051294033194
U3525 [ZISHKA—IVIVT (2) ¥1,400] 5051294033361
U3782 |814¥2735L (4) ¥580] 5051294042844
U3g14 [F74Y%—h(8) ¥1,050] 5051294043162
U3gis [F777(2) ¥1,050] 5051294043179
U3824 [RS17+7hyh(JY) ¥5,300] 5051294043261
U3834 [RS17+7hEY A9V a1—EVh ¥1,000] 5051294043360
U3836 |[RSA7+7b72AN()Y) ¥1,000] 5051294043384
U3837 [RS17+7bF—(702) ¥1,250] 5051294043391
U3838 [RS17+7hF—2(1F) ¥1,250] 5051294043407
U3907 [20T ZN3S7-1)— ¥2,300] 5051294044091
U3930 [20T 7—Y—%i1kK ¥580] 5051294044329
U3924 [JA A~k BandoXZARZ AR T ¥1,700] 5051294044268
U3933 A=/ s—hF5—tvhk ¥1,150] 5051294044350
U3937 B IN=RATV 7 Hhv7 (4) ¥750] 5051294044398
U4066 [ZA kANt BandoTZARS AMAV T ¥1,800] 5051294073121
U4137 [H—FKeok(2) ¥950] 5051294073831
U4155 |73 +— M3 (10) ¥380| 5051294074012
U4236 |[ZISHFEZX M3X10(10) ¥750] 5051294074821
u4241 [7iN3Fsar+vk M3 (10) ¥750] 5051294074876
U4242 [O—=N/x—7 vk (4) ¥580] 5051294074883
U4243 [FAYZA9Y)a27v3a(4) ¥580| 5051294074890
U4244 |21>af—2)rvb-F-=) (4) ¥750] 5051294074906
U4245 |7aY/bIN/IN— ¥1,600| 5051294074913
U4246 |70 bv1af—=r2o2b ¥950] 5051294074920
U4247 [Wxo1af—r2orb ¥950] 5051294074937




i B N—JF RE i (BEHl ) N—2-—F

U4355 [H—F ¥ 24228 —23.0 (L) ¥1,150] 5051294079246
U4359 |h—+K)r9122F—23.0 R) ¥1,150] 5051294079284
U4250 [F79357(2) ¥750] 5051294074968
U4251 [by7FvF2I2h(2) ¥750| 5051294078201
U4252 [VERMYTZIUb(2) ¥1,150] 5051294078218
U4253 |F2NN=TviI\—*+v7 (4) ¥1,150] 5051294078225
U4254 |F-NI KI5y OV % (8) ¥1,150] 5051294078232
U4255 [J¥ V7 (2) ¥1,150] 5051294078249
U4256 [7AVbk/V7 (2) ¥1,150] 5051294078256
U4257 |*¥+R2—-70v94° ¥750] 5051294078263
U4259 [A—is—977 (4) ¥750] 5051294078287
U4260 [¥¥YTI/1\9929 ¥1,300] 5051294078294
U4261 |FXTINIFY ¥1,300] 5051294078300
U4262 |E—&2—vb ¥3,400] 5051294078317
U4263 [7AYMI2U ARSIV aNID A ¥2,500] 5051294078324
U4264 (70 b5 AR3YSaiNvodJB ¥2,500] 5051294078331
U4265 [T*tM)Vv2)/7A ¥1,500] 5051294078348
U4266 [T*th)v2)7B ¥1,500] 5051294078355
U4267 [L1+7b ¥950] 5051294078362
U4268 [t%—bZvo0OVK ¥1,880] 5051294078379
U4269 |AF7V7%ob ¥3,750] 5051294078386
U4270 | TELAN—H—(2) ¥950| 5051294078393
u4271 [7arbRZESLY—1N—tvb ¥1,900] 5051294078409
U4272 |VYAZESL1H—1—Evb ¥1,900] 5051294078416
U4273 |7RF—NIK INb52a—b (4) ¥750] 5051294078423
U4274 [70FK—NVI/R a—hk(4) ¥750] 5051294078430
U4275 [7Z0F—NI R Ov7 (4) ¥750] 5051294078447
U4276 |B—IN—=U =3 (2) ¥580| 5051294078454
U4278 [ N—=—NT7 v atvb ¥950] 5051294078478
U4279 [F7A7)1—tvbk ¥1,300] 5051294078485
U4280 |F—WANT)J 4x9x4 (2) ¥750] 5051294078492
U4281 [AT7V7EKZAR (3) ¥580| 5051294078508
U4282 |by7FvFAN—H— ¥580| 5051294078515
U4283 [7aYbIL&IN/IN— ¥1,150] 5051294078522
U4284 |8 1\—ERb35F—) (2) ¥750] 5051294078539
U4285 [>avo—J (8) ¥1,150] 5051294078546
U4286 [H—Fvd— ¥10,500] 5051294078553
U4287 [H—FK7AU/bF/IN—RT— ¥1,150] 5051294078560
U4288 |H—FI)YEN—AT— ¥1,880| 5051294078577
U4289 |H—F7yN—Tv* ¥2,850] 5051294078584
U4353 |A—FK70Ubh21228K-22.5° (L) ¥1,150] 5051294079222
U4357 |h—F70b2122%-22.5" (R) ¥1,150] 5051294079260
U4293 |H—FLRTTPI TP =L)X INT =4 (2) ¥950| 5051294078621
U4294 |h—FY—F3o b ¥1,150] 5051294078638
U4296 |¥vF7hv7 ¥950] 5051294078652
U4297 |&#—2/vv2avk 30mm (2) ¥950| 5051294078669
U4298 |&—>vyo2iBYK 35mm (2) ¥950) 5051294078676
U4299 [&#—2/sv2aYEK 52mm (2) ¥950| 5051294078683
U4300 [Savo—lv¥+y7 ¥750] 5051294078690
U4301 |7S+RT19Fvk ¥750] 5051294078706
U4302 |F—=NIRIFIbh a—b(4) ¥580] 5051294078713
U4303 [F-NJsvbk 07 (8) ¥1,150] 5051294078720
U4306 [ IN\—=RT)J )=~ ¥950| 5051294078751
U4310 [H—FK7vI8N=1)172 2k (4Dink) ¥1,150] 5051294078799
U4312 VY ZNIEKT1HRAR2 20 ¥1,980| 5051294078812
U4313 [ZAVbZNIERTF1HAR2 I ¥1,980] 5051294078829
U4314 [ZINZ7v+—(16) ¥850] 5051294078836
U4316 [LL+TbIRF+YT ¥950] 5051294078850
U4331 [RS17+70yNMTZa20M) ¥4,700] 5051294079000
U4332 |A7-I ¥2,850] 5051294079017
U4335 [2avoby7)9 (2) ¥750] 5051294079048




OPTION PARTS LIST

% =Y %F SEffi (R | /S—O—F
U1576 |HAR7—LE(F%22)(2) ¥1,250]| 5051294012465
U1905 [#—>/xy2iavk 35mm(F%2)(2) ¥2,000] 5051294013004
U2862 |[EF3IVIFK—-IAT7)J 5X10X4(2) ¥1,400]| 5051294018849
U3017 [EF3Iv2F—-IA7)J 10X15X4(2) ¥1,600]| 5051294020118
U3161 [87T R/\—F+ (48EVF) ¥1,250]| 5051294021504
U3162 (89T R/\—F+ (48EVF) ¥1,250] 5051294021511
U3163 [114T R/\—F+ (64EYF) ¥1,250] 5051294021528
U3165 [118T R/\—F+ (64EVF) ¥1,250]| 5051294021542
U3247 [70T R/I\—F+ (48EYF) ¥1,250] 5051294022310
U3248 (96T R/\—F+ (64EYF) ¥1,250] 5051294022327
U3260 [av9= I bEREANMFEY)(2) ¥1,900]| 5051294022464
U3269 [90T R/\—F+ (64EYF) ¥1,250] 5051294022549
U3270 [106T R/\—F+ (64EYF) ¥1,250] 5051294022563
U3386 [EF3IVIF—IAT7)J 4X8X3(2) ¥1,600]| 5051294029388
U3400 [66T R/\—F+ (48EYF) ¥1,250]| 5051294030018
U3560 [74T R/s—F+ (48EYF) ¥1,250] 5051294039622
U3833 [ZIVIRF17+ZhEv()¥) (2) ¥5,800]| 5051294043353
U3840 [ZIVIKFL7+ZbT7RN()A) ¥1,250] 5051294043421
U3841 [ZIVIRFAT7+7hFE—=2(70/0) ¥1,250] 5051294043438
U3842 [ZIVIKFL7+7hEKE—2(1)4) ¥1,250] 5051294043445
U4258 |¥+A2—70Y%6° ¥750] 5051294078270
U4290 [SyYRE—HZ—av/IN\—2av ¥6,600] 5051294078591
U4292 |h—F V)X 21>,28K—225 BR5RIES ¥1,150]| 5051294078614
U4295 (H—KATa )X INT7—L(2) ¥1,500]| 5051294078645
U4304 [ IN—=RF)J FI4h (2) ¥950] 5051294078737
U4305 [8#IN\=RT)9 TI—(2) ¥950| 5051294078744
U4307 |FIN\=RFVJ LYK (2) ¥950] 5051294078768
U4308 [#1\—R7)9 4I0—(2) ¥950| 5051294078775
U4309 [F1N=AR7)9 vk (10) ¥3,800]| 5051294078782
U4130 [ N—F+ YT N Fal)— ¥1,700]| 5051294073763
U4311 [H—=FKr7vin=1)122 /b (3Dink) ¥1,150] 5051294078805
U4321 [ZIVIR14—IV>L0.5mm-1.0mm (8) ¥580| 5051294078904
U4322 [SYRE—Z—7Y/MNIVb ¥1,700] 5051294078911
U4323 |SYRE—Z—-1)YANIVB ¥1,700]| 5051294078928
U4324 [SYRE—Z—N—FKLT7IIN—TI* ¥2,800]| 5051294078935
U4326 [#— /vyl 30mm(F%2)(2) ¥1,900]| 5051294078959
U4327 [ZZIVISH—FK=eok(2) ¥1,980]| 5051294078966
U4328 |Y—FKt1/— ¥1,900]| 5051294078973
U4329 [YU—FKtsL/N—"o/b ¥750] 5051294078980
U4330 [Y—FKt1/IN—RT)/J ¥1,150]| 5051294078997
U4336 [Fara2—21xv2)vtvhk (7) ¥5,800] 5051294079055
U4337 [ETF1EXEYH ¥1,900]| 5051294079062
U4338 [ZZIVIRF147+ZhEyM(7ZBV0) ¥4,700]| 5051294079079
U4339 [My7FvF2I/b7IE ¥1,900]| 5051294079086
U4340 [SYRE—F—N—FKL)EAbYIN— ¥1,300] 5051294079093
U4341 |h—F K Y—EKeok ¥1,150] 5051294079109
U4342 |32 IN=%8F2 ¥1,150]| 5051294079116
G884 [RZ147+7b70/MF7 W31 b (2) ¥8,500]| 5051294068646
CR283 [FarF—INAZVERtYh(22) ¥9,800] 5051294080341
U4320 [Mi5 FH—J (3) ¥750| 5051294078898
U3478 [Schumacher F#H—Jl (3) ¥750( 5051294031985
ABOEHLEICEYFEREBEERETSCENTENET

BARA: HEEERTEEMA2098-4 TEL0749—22—3747

MHC

P
Tt

=1




